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0G15-37. In the last decade there has been a significant decrease in coffee consumption. During this same time,
there has been increasing publicity about the adverse long-term effects on health of the caffeine in coffee.
Therefore, the decrease in coffee consumption must have been caused by consumers’ awareness of the harmful
effects of caffeine.

Which of the following, if true, most seriously calls into question the explanation above?

(A) On average, people consume 30 percent less coffee today than they did 10 years ago.

(B) Heavy coffee drinkers may have mild withdrawal symptoms, such as headaches, for a day or so after
significantly decreasing their coffee consumption.

(C) Sales of specialty types of coffee have held steady as sales of regular brands have declined.

(D) The consumption of fruit juices and caffeine-free herbal teas has increased over the past decade.

(E) Coffee prices increased steadily in the past decade because of unusually severe frosts in coffee-growing

nations.
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An unusually severe winter occurred in Europe after the continent was blanketed by a blue haze resulting from
the eruption of the Laki Volcano in the European republic of Iceland in the summer of 1984. Thus, it is evident
that major eruptions cause the atmosphere to become cooler than it would be otherwise.

Which of the following statements, if true, most seriously weakens the argument above?

(A) The cooling effect triggered by volcanic eruptions in 1985 was counteracted by an unusual warming of
Pacific waters.

(B) There is a strong statistical link between volcanic eruptions and the severity of the rainy season in India.

(C) A few months after El Chichn's large eruption in April 1982, air temperatures throughout the region remained
higher than expected, given the long-term weather trends.

(D) The climatic effects of major volcanic eruptions can temporarily mask the general warming trend resulting
from an excess of carbon dioxide in the atmosphere.

(E) Three months after an early springtime eruption in South America during the late 19th century, sea surface

temperatures near the coast began to fall.
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The ice on the front windshield of the car had formed when moisture condensed during the night. The ice melted
quickly after the car was warmed up the next morning because the defrosting vent, which blows on the front
windshield, was turned on full force.

Which of the following, if true, most seriously jeopardizes the validity of the explanation for the speed with which
the ice melted?

(A)
(B)

(©)

The side windows had no ice condensation on them

Even though no attempt was made to defrost the back window, the ice there melted at the same rate as did
the ice on the front windshield.

The speed at which ice on a window melts increases as the temperature of the air blown on the window

increases.

(D) The warm air from the defrosting vent for the front windshield cools rapidly as it dissipates throughout the

(B)

rest of the car.
The defrosting vent operates efficiently even when the heater, which blows warm air toward the feet or faces

of the driver and passengers, is on.
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58. Red blood cells in which the malarial-fever parasite resides are eliminated from a person’s body

. Because the parasite cannot travel to a new generation of red blood cells, any fever that develops in a

person after that person has moved to a malaria-free region is not due to the malarial

parasite.

Which of the following, if true, most seriously weakens the conclusion above?

(A)
(B)

(©)

(D)

(B)

The fever caused by the malarial parasite may resemble the fever caused by flu viruses.

The anopheles mosquito, which is the principal insect carrier of the malarial parasite, has been eradicated in
many parts of the world.

Many malarial symptoms other than the fever, which can be suppressed with antimalarial medication, can
reappear within 120 days after the medication is discontinued.

In some cases, the parasite that causes malarial fever travels to cells of the spleen, which are less
frequently eliminated from a person’s body than are red blood cells.

In any region infested with malaria-carrying mosquitoes, there are individuals who appear to be immune to

malaria.



